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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE
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Answer EIGHT questions only. Question number TEN carries ‘16V marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Whatdo you understand by any three of the following ?. o -, 4each
a)  Subrogation and Abandonment. . '
b) Functions of General Insurance Corporatlon of, Indla and General
Insurance Council.
©) - Liner Vessel and Tramp Vessel.
d)  Unitising and Palletising,
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2. Write short note on any three of the following : 4each
a) Specific Policy
b) Duty Insurance
¢)  OpenCover
d) Importance of preparing cargo for transit.
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Briefly describe any three of the following : , 4 each
a) Payment of additional premium

b) Identifiable hazards during Transit.

¢) Institute Bulk Clauses.

d) Marine Cover Note.
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Give your opinion on any two of the following : 6 each
a)  Rules of Interpretation and their importance in Marine Insurance.

b)  Effect of Termination of Contract of Carriage Clause.

¢) Implication of Institute Classification Clause (2001).
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Discuss any two of the following : 6 each
a) Insurance of Containers.

b) Importance of recoveries from Carriers and Bailees.

¢) Major Ports of India.
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Briefly explain any two of the following :

a)  Useof Information Technology in Marine Underwriting.
b) Standard Conditions for issuing an open Policy.

¢) Marine Advance Loss of Profits Insurance.
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Describe the method of initial rating of an ocean going vessel, with simple
examples. :
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6 each
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What is the 'Salvage Loss' method of settlement of a cargo loss ?
Based on the following facts, calculate the claim as per this method.

Cargo of fully pressed cotton bales in container were sent from Mumbai to
London by sea. It got severely damaged by a fire on board of the vessel.
Master of the vessel decided to offload the cargo at an intermediate port.
Insurers and surveyors decided to sale the cargo by auction at that port and
realise the best amount. The following were the result of the auction.

a) Sale Value : = $10,000
b) Auctionand SurveyFees - * $1,000
¢) SumInsured - $50,000

d) Terms of Cover - ICC(A) 1982, War and SRCC Risks,

1% excess on the whole on partial loss

claims.
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Explain in brief the Marine Insurance market in India and the Salient features of
the Marine Insurance Act, 1963, o '
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"Institufe Cargo Clauses 2009 have clarified certain ambiguities which were

there in the 1982 clauses and have also changed the language from colonial
English to simple English". Elaborate w1th examples
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